Ratio

Ratio

< 0dy > (kM)

<op/p, > (%)

-3 -2 -1 0 1 2 3
TP n (PCA to beamline)

S0.08F
8 F
0 0.06F
Vv C
0.04
0.02F

-0.02F
-0.04F
—0.06F
-0.08F

Ratio

-0.1E

0.5

-2 -1 0 1 2 3

—=— DQM_TT__mkFit-DQM_time_old132
—— DQM_TT__mkFit-DQM_time_new132

—lq__.'.'..'..'.;..'..'.'..'..;.!.'..'..'.;..'..'.'..'..;.!.'..'.!.;..'..'.'..'.

-3 -2 -1 0 1 2 3
TP n (PCA to beamline)

23T 0 T2 73
TP n (PCA to beamline)

<dd,>(um)

................................................

................................................

................................................

-1QF

-2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


